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5 0 5
5.0

2.5

0.0

2.5

5.0
data

1.251.501.752.002.252.502.753.00

5 0 5
5.0

2.5

0.0

2.5

5.0
model

1.5 2.0 2.5 3.0

5 0 5
5.0

2.5

0.0

2.5

5.0
residuals

0.300.250.200.150.100.050.000.050.10
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data
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model
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0.40.30.20.10.00.10.20.3

Fiber 2398, dchi2frac= 1.0
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0.0

2.5
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data

2.02.53.03.54.04.55.0

5 0 5
5.0

2.5

0.0

2.5

5.0
model

2.02.53.03.54.04.55.05.5

5 0 5
5.0
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2.5

5.0
residuals

0.60.40.20.00.20.4

Fiber 4213, dchi2frac= 1.0
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data

1.52.02.53.03.54.04.5

5 0 5
5.0

2.5

0.0

2.5

5.0
model

1.52.02.53.03.54.04.5

5 0 5
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2.5
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2.5

5.0
residuals

0.20.10.00.10.20.3

Fiber 4114, dchi2frac= 1.0
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data

1.52.02.53.03.54.04.55.0

5 0 5
5.0
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2.5

5.0
model

1.52.02.53.03.54.04.55.0
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5.0
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2.5

5.0
residuals

0.050.000.050.100.15

Fiber 32, dchi2frac= 1.0
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data
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model
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5 0 5
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2.5

0.0

2.5

5.0
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0.30.20.10.00.10.20.30.4

Fiber 2886, dchi2frac= 1.0
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data

1.52.02.53.03.54.0

5 0 5
5.0

2.5

0.0

2.5

5.0
model

1.52.02.53.03.54.04.5

5 0 5
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2.5

0.0

2.5

5.0
residuals

0.150.100.050.000.050.100.150.20

Fiber 650, dchi2frac= 1.0
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data
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5.0
model
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residuals

1.00.80.60.40.20.00.2

Fiber 765, dchi2frac= 1.0
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5.0
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data
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5 0 5
5.0

2.5

0.0

2.5

5.0
model

1.52.02.53.03.54.04.55.05.5

5 0 5
5.0

2.5

0.0

2.5

5.0
residuals

0.30.20.10.00.10.20.30.4

Fiber 4797, dchi2frac= 1.0
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data
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model
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0 1 2 3 4 5

Fiber 4221, dchi2frac= 1.0
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data

1 2 3 4 5

5 0 5
5.0

2.5

0.0

2.5

5.0
model

1 2 3 4 5

5 0 5
5.0

2.5

0.0

2.5

5.0
residuals

0.40.20.00.20.40.60.81.0

Fiber 1080, dchi2frac= 1.0
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2.5
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data
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5 0 5
5.0
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model

0.51.01.52.02.53.03.54.04.5
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5.0
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5.0
residuals

0.20.10.00.10.20.30.4

Fiber 2867, dchi2frac= 1.0
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data
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model
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0.3 0.2 0.10.0 0.1

Fiber 2684, dchi2frac= 1.0
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5.0
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2.5

5.0
data

1.00.50.00.51.01.52.02.53.0

5 0 5
5.0

2.5

0.0

2.5

5.0
model

1.00.50.00.51.01.52.02.5
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0.20.10.00.10.20.30.4

Fiber 2538, dchi2frac= 1.0
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model
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0.10.00.10.20.30.4

Fiber 2991, dchi2frac= 1.0
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model
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0.00.51.01.52.02.5

Fiber 541, dchi2frac= 1.0
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data
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model
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5.0
residuals

0.2 0.1 0.0 0.1

Fiber 4539, dchi2frac= 1.0
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2.5
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data

1.52.02.53.03.54.0

5 0 5
5.0
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0.0

2.5

5.0
model

1.52.02.53.03.54.04.5

5 0 5
5.0

2.5

0.0

2.5

5.0
residuals

0.150.100.050.000.050.100.150.20

Fiber 4394, dchi2frac= 1.0
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model
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Fiber 4392, dchi2frac= 1.0
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data

1.52.02.53.03.54.0

5 0 5
5.0
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0.0

2.5

5.0
model

1.52.02.53.03.54.0

5 0 5
5.0

2.5

0.0

2.5

5.0
residuals

0.150.100.050.000.050.10

Fiber 4534, dchi2frac= 1.0
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5.0

2.5
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2.5
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data

1.52.02.53.03.54.04.5

5 0 5
5.0
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0.0

2.5

5.0
model

1.52.02.53.03.54.0

5 0 5
5.0

2.5

0.0

2.5

5.0
residuals

0.150.100.050.000.050.100.150.200.25

Fiber 4097, dchi2frac= 1.0
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data

0.50.00.51.01.52.02.53.0
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5.0
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model
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0.3 0.2 0.10.0 0.1

Fiber 2528, dchi2frac= 1.0



5 0 5
5.0
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2.5
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data

1.01.52.02.53.03.54.04.55.0

5 0 5
5.0
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0.0

2.5

5.0
model

1.01.52.02.53.03.54.04.55.0

5 0 5
5.0

2.5
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2.5

5.0
residuals

0.150.100.050.000.050.10

Fiber 1148, dchi2frac= 1.0



5 0 5
5.0

2.5

0.0

2.5

5.0
data
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model
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residuals

0.150.100.050.000.050.100.150.20

Fiber 4181, dchi2frac= 1.0
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data
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model
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Fiber 2670, dchi2frac= 1.0
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data

1.01.52.02.53.03.54.0
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2.5
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model

1.01.52.02.53.03.54.0
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2.5
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2.5

5.0
residuals

0.150.100.050.000.05

Fiber 260, dchi2frac= 1.0
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model
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residuals

0.40.30.20.10.00.1

Fiber 2404, dchi2frac= 1.0
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data

1.52.02.53.03.54.04.55.0
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5.0
model

1.52.02.53.03.54.04.55.0
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Fiber 2253, dchi2frac= 1.0
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data
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model
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Fiber 2126, dchi2frac= 1.0
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model
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Fiber 1061, dchi2frac= 1.0
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data

1.52.02.53.03.54.0

5 0 5
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2.5

5.0
model
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5 0 5
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residuals

0.0750.0500.0250.0000.0250.0500.075

Fiber 952, dchi2frac= 1.0
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model
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residuals

0.30.20.10.00.10.20.3

Fiber 4666, dchi2frac= 1.0
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data
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model
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residuals

1.00.80.60.40.20.00.2

Fiber 2587, dchi2frac= 1.0
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5.0

2.5
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data

1.52.02.53.03.54.04.55.0

5 0 5
5.0
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2.5

5.0
model

1.52.02.53.03.54.04.55.0

5 0 5
5.0
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5.0
residuals

0.250.200.150.100.050.000.050.10

Fiber 1376, dchi2frac= 1.0
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data
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5 0 5
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5.0
model

1.52.02.53.03.54.04.55.0
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residuals

0.20.0 0.2 0.4 0.6

Fiber 4633, dchi2frac= 1.0
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5.0
data

2 3 4 5

5 0 5
5.0

2.5

0.0

2.5

5.0
model

1.52.02.53.03.54.04.55.05.5

5 0 5
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0.0

2.5

5.0
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0.300.250.200.150.100.050.000.050.10

Fiber 1259, dchi2frac= 1.0
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2.5

5.0
data

1.52.02.53.03.54.04.55.0
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5.0

2.5
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2.5

5.0
model

1.52.02.53.03.54.04.55.0

5 0 5
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5.0
residuals

0.30.20.10.00.10.2

Fiber 373, dchi2frac= 1.0
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data
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model
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residuals

1.00.80.60.40.20.0

Fiber 2397, dchi2frac= 1.0
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5.0
data

1.52.02.53.03.54.04.55.0
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5.0

2.5

0.0

2.5

5.0
model

1.52.02.53.03.54.04.55.0

5 0 5
5.0

2.5

0.0

2.5

5.0
residuals

0.050.000.050.100.15

Fiber 775, dchi2frac= 1.0
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data
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model
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0.200.150.100.050.000.050.10

Fiber 30, dchi2frac= 1.0
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5.0
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data

1.52.02.53.03.54.04.55.05.5

5 0 5
5.0
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2.5

5.0
model

1.52.02.53.03.54.04.55.05.5
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5.0

2.5
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5.0
residuals

0.250.200.150.100.050.000.05

Fiber 598, dchi2frac= 1.0
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data

0.51.01.52.02.53.03.54.0
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model
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Fiber 2413, dchi2frac= 1.0



5 0 5
5.0

2.5

0.0

2.5

5.0
data

0 1 2 3 4 5

5 0 5
5.0

2.5

0.0

2.5

5.0
model
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0.200.150.100.050.000.050.10

Fiber 2217, dchi2frac= 1.0
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data
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5 0 5
5.0
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model

1.52.02.53.03.54.04.55.0
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5.0
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5.0
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0.40.30.20.10.00.10.20.30.4

Fiber 1223, dchi2frac= 1.0
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data
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5 0 5
5.0

2.5

0.0

2.5

5.0
model

2.02.53.03.54.04.55.05.5
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Fiber 2394, dchi2frac= 1.0
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data
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Fiber 2942, dchi2frac= 1.0
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data

1.52.02.53.03.54.04.55.0

5 0 5
5.0

2.5

0.0

2.5

5.0
model
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Fiber 1411, dchi2frac= 1.0
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data

1.52.02.53.03.54.04.55.05.5
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model

2.02.53.03.54.04.55.05.5
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0.30.20.10.00.10.20.30.4

Fiber 521, dchi2frac= 1.0
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model
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0.00.20.40.60.8

Fiber 2302, dchi2frac= 1.0
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data

0.00.51.01.52.02.53.0
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model
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Fiber 2641, dchi2frac= 1.0
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Fiber 4341, dchi2frac= 1.0


